DCF-213J(20. 07)

V1

2024/02/08 |

2

=
D#

27418 e Vi GN NO. SEscRibIon e e o on
('ON DNIMVYQ) &R H[E 2 14/SEP/2021 041612 CORRECTION OF ERRORS — T. TAKESHITA — E. MATSUMOTO
3 07/FEB/2024 056082 ADD MARKINGS — T. TAKESHITA — H. EBIHARA
: SPECIFICATION
N Lt?(iK ;%F,I,g"gl_oimg( ;EP% CONTACT © #0 SOCKET CONTACT 4 PIECES
27 ek =7 I~ DIELECTRIC WITHSTANDING
126 VOLTAGE : AC.6000Vr.m.s. FOR ONE MINUTE
/ INSULATION RESISTANCE  : 5000MQ MIN. (AT DC. 1000V)
(45) APPLICABLE WIRE : WLC2 50mfi x 4 CABLES (OUTER DIAMETER: ¢ 18.8=1.0)
// MASS : 718g=10% (CONNECTOR)
T 41g=10% (CONTACT)
N i
= V08 #H0VTy haR Y AR
| ,WW+ [l Mt &EE © AC. 6000Vr.m.s. 1537
gl g @ 5000MQ LI E (DC. 1000VI=T)
[—— BAEHE 0 WLC2 50mix4A (HEESME: $18.8+1.0)
. HE © T18g+10% (A4%)
i MNgx=10% (a2 H)
£ { | | PERSPECTIVE VIEN (REF.)
\ \ N v
) N : A N FE” (%)
(14) | 1 _ () (D (SCALE 1 : 2)
@) | =
d o =1ﬁ_ /}f’f\\\\
I < \ 7\
| - \ va-vdb é///////' [ATTACHED CONTACT] (NOTE2) (ATTACHED GROMMET] (NOTE2)
: . : o Z - G EPZT RS B¢ ) [R5 Bxy R] GED)
o o o = TYPE SOCKET FORM
! 9 «®® « 25 Viry b 20N
| > EI»JI_ESH gall&\b/ERgI:LATING
! i 2
| - ] SIZE —F
. #0
N N N . I | I I T 777 = -ij-/rx /a
| CROSS SECTION AREA OF CONDUCTOR (g0 oo - — =
122 A-A i 2 38 R B
(142 ﬂ = (16)
=0 —br-—-—r 5 3
| — S 5
(55. 7)
17 |HEXAGON SOCKET HEAD SCREW | 4 |STAINLESS STEEL — M3-L22
G 16 |HEXAGON SOCKET HEAD SCREW | 3 |STAINLESS STEEL — M6-L10
g 15 |HEXAGON SOCKET HEAD SCREW | 2 |STAINLESS STEEL — M6-L20
i 14 [SPRING 2 |STAINLESS STEEL —
] 13 [MACHINE SCREW 2 |STAINLESS STEEL _ M4-L6
v 12 |CLAMP SADDLE 1 |ALUMINIUM ALLOY ZINC PLATING R oK Sy SoEM
= 11 |CLAWP 1 |ALUMINIUM ALLOY ZINC PLATING COLOR BLACK SYSTEM
10 |PLATE 1 |STAINLESS STEEL —
9 |LEVER 1 |STAINLESS STEEL —
8 |RIVET 2 |STAINLESS STEEL —
ATTACHED (NOTE2)
/3 LOCK CONFIRMATION MARK (BOTN SIDES): RED T [GROVHET 4 |SYNTHETIC RUBBER — FOR S0mi x4
Oy RBAT—F24 @) Fe 6 |GASKET 1 |SYNTHETIC RUBBER _
5 |"0"RING 1 |SYNTHETIC RUBBER —
NOTE1.LOT No., COMPANY LOGO “JAE”, AND PART NUMBER ARE MARKED IN THE AREA SHOWN. 4 [CLIP 4 _|COPPER ALLOY SILVER PLATING AR ST
3 |SHELL 1 [ALUMINIUM ALLOY ZINC PLATING COLOR BLACK SISTE
2. THE CONFIGURATION OF CONTACT AND GROMMET ATTACHED IS SHOWN IN THE RIGHT DRAWING. 9 |SOCKET CONTACT 4 |COPPER ALLOY SILVER PLATING ATTACHED (NOTE2)
1 |SOCKET INSULATOR 4 |SYNTHETIC RESIN — UV, W,E x T (EACH)
H1LRTROMEIZAY FEES, HBRUREBERTLET, o oEScRIPTIN 1%”.‘;& TERIA e B R
{14k = (SPECIFICATION) 1k (ORIGINAL DATE) FRE (SCALE) 1) =X (SERIES)
2. KARTBIZHEFENBALEY FRUTOA Y FIEROBKTT . JACS-50129 T 10/SEP/2021 1:1 JK11 BAMZEFIEMRAR | |
JAHL-60129 DR. — & (TITLE) =
— %43 2= (GENERAL TOLERANCE) 8% | T TAKESHITA JAPAN AVIATION "
: CHK. quhif ELECTRONICS N
<ti% (DIMENSION) | £ (ANGLES) E% ~ JK11DY04SH2 424 INDUSTRY, LTD.
: +0.8 X°  =x - |
X %0.8 | xox i// AZ | E NATSUNOTO X & &S (DRAWING NO.) e
s w ONT) < | > OHEET 10 T I = $J124491 3
1 2 3 4 5 6 7 8 | 9 10 | 11

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII | |
10 20 30 40 0

JAE Connector DIV. Proprietary. Copyright(C) 2021, Japan Aviation Electronics Industry, LTD.

| WISDOM&



